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0.27mol/Kg =

0.27molx =A% =50.0g
A% =1.9x10%/mol

22 1.9 x 10% g/mol
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300
= = (.455
Xa=2# = 3601 300 0490
Py = Pope + Pz ot loaE

= 0.545 X 360 torr + 0.455 X 300 torr = 333 torr

35| 2. 333 torr
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BFs + NHz — F3sBNH3

A% [BE] (M) [NH;] (M) 27 §E(M/s)

1 0.250 0.250 0.2130
2 0.250 0.125 0.1065
3 0.200 0.100 0.0682
4 0.350 0.100 0.1193
5 0.175 0.100 0.0596




(a) 9 B39 £E BRS MAIQ.

W &% = k[BF" [(NVH,]"

WSS, 04196, [0.350]"[0.100)" ),
HhS- & T 0.0596 © [0.175)7[0.100])"
n=1

e EE 0.2130 , _ [0.2501°[0.250)" _,,,
FS &%, 0.1065 © [0.250]%[0.125)"

Hh-S- S = E[BF,][VH,] = kx 0.200 M X 0.100 M= 0.0682M/ s
k=3.41/(M+ s)
5T A k =3.41 /M's

(c) [BFsl= 0.100 M, [NHs]= 0.500 M mel =J| Bt &&= g0t
t?

HP% &% = k[BF,J[NH,] = 3.41/ (M « 5) < 0.100 M 0.500 M
=0.171 M/ s
S £kt 0.171 M/s
(d) [BFsl= 0.0100 M, [NH3l= 5.00 M S==2 9 9SS AZSIALCH

[BFs] = 0.00250 M O & WMNtX Zel= AI2S L0H0IW=I1?

[BFs]= 0.0100 M, [NHs]= 5.00 M OI2Z NHs Ol WSOl UL
mWetA [NHa]=[NHa]o=5.00 M 2 &2 M2i518 £EAl2

A[BF] ,
NI k[BF,)[NH,], OF €Ch KINHglo = k'©2 29
AlBR]
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d[BF,]
g ok [BF]
d[BF;] v
TR
—In([BF;] - [BF,],) =K't
0.00250 _
=5 ot00 ~ F*
PR S S 8.13x10 %
T (3.41/Ms) < 5.00M " ’ )

(B2 [BF:]ol 1X P29l BHD|
- 0,693: 0.693

o = 23
h2 = T (341 Ms) X 5.00M gd= HCk)

=4.06x10"%2 0l

mol

C0,25.0g = 25.0g < = 0.568mol

14.0g
__ 0.568mol _ )
[CO,] =x 3000 " 0.189M
C(s) + CO2(g) — 2 CO(9)
NS 0.189 0
w3 -X 2x
g8 0.189-x 2x
_leor_ @ _
=10~ oas9—o 190
42%+1.90z — 0.35 97(
= 1.90+ v/(1.90)*— 4(4)(— 0.359) _ ,
= 2(4) =0.145M

[COl= 0.145 M x 2 = 0.290 M
=> 84 = 0.290 M x 3.00 L = 0.870 mol
=> &Z = 0.870 mol x 28.0 g/mol = 24.4 g

(c) etet ol

Be =g 8.13 x 1072
. 1000 KOIA CIES BS99 EE A4+E Ko = 1.90 0/12, 298 KUHAE K.

= 0.133 OICt.
C(s) + CO2(g) — 2 CO(g)

(a) 1000 K, 3.00 L &7 &0l warel G2 25.0 g2 CO,E HHSAIZACHY,

CO= 2 g 445017

MHE CO(g)o Za: 24.4 g
(b) Ce 2 g AHlI EAEIN?
(a)0ll A COJI 0.870 mol MHEAUSDZ
Ce 0.870 mol/2 = 0.435 mol A4l
=> 0.435 mol x 12.0 g =522 g
2HIE C(s)o Ha: 5.22 g
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6. SIZ22BI(HP)S ZR S22 Y %2 0,5 SUSICL. 2t HbS 4 O2
2Xet ZEstth O-Hb Z& IS0l g B8 &= 42 2228100
NECH ot S22 2RI0A O 3k Ox-Hb 28 s8E =2dt= O U
o, 4B E2S IS 29| 50%IF &2 ZEE HEHE 20ISt= P50
A#ctd ot HEE ALS8CH EHOF sI2=2Z2H2 19.0 torr0lA P50 XI==

£ UEHD, 4ol sl2==282 26.8 torrlld P50 XI=E LIEHHCE O Xt
=2 0185 = e 22% o2 Bt K(HL) o
= |oO|‘01, P50 =2 0IA IS =% S0l st W g 3
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4 O2(g) +Hb(agq) = [Hb(O2)s (aq)]
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8. LS &-gJ| Ht39 MgES 0ISGt], HEO YEol }Z2=2 E=
REXOCZ MHEXE USSR,

4 02(g) +Hb(aa) — [Hb(O2)s (aq)] e
(a) 0*"(aq) + H:0O() =

_ [#(0y)4lag)]  [Hb(0,),(ag)] (b) CHa?OOH(aq) + HS™() =
T 0k [#b(ag)] (A + o) [Holag)] (c) NO."(aq) + HO() =
(A 00) obd o)) F42 4 & E R b 4 . -
o (ag) + H20() = 20H (aq)
Hbo| 7] 5= [Hb],0l tar s o ws: o=x
P50 A [Hb] = 5[H7)]0 [Hb(0,),] = [Hb]
L P50FACN A ) HP g CH3COOH(aq) + HS™(I) = CHsCOO™(aq) + H2S™(I)
. Heo wE: oE=
— [ #0]
K. (Efo}) = [ é”(b ()]042[)11[(1)(211)])] - : “ 1
H\g aq (A4« 19.0 /,07'74)15[H?I]0 NOz (aq) HoO(l) = HNO»(aqg) + OH (aq)
N ol 9Eh A=
(A« 19.0 torr)*
K(4Q) = !

(A« 26.8torr)? _ _ _
9. Oi™ McIst MHMA pH 6.52 &5 S0l 250 BHY 2 A=

K(Hoh) (4 - 268 torr)' _ (268, _ 4 o S0| 4 HoX (Kay = 2.0 x 107% K = 5.0 x 1077) £& 120 o5
KAL) (4 19.0t0rr)t 119:0 SOl DIZBN YSS LUCH 1.0M HX & B 1.0 L 1.0M NaOH 8

2 0I856l0 pH 6.52 25 EHE WS S

(a) 9 2EBUS 2SI AN Ku BE, K BE 5 0= BES 0/SHOE

=0 ©
K (Elo})
K(gen) = 396 BKai = ~l0g(2.0 X 107 = 1.70
< pKaz = —10g(5.0 x 107) = 6.30
7. 1SS 25 °COIAM 2t HHSOIl CHE dHal A2=0ICH 2tA 6.5000 JINS Ko BES OIZMOF BHCH
HoO(l) = H*(aq) + OH (aq) Ke = 1.0 x 107" HX (aq) = H*(aq) + X*(aq)
H2COs(aq) = H'(aq) + HCOs (aq) Kai = 4.3 x 107, Kez = 5.6 x 107"
NHs(aq) + H20(l) = NHs(agq) + OH (aq) Ko = 1.8 x107°
25 COIAM CHS (i), (i) S0l CHE BE AAS 2BAQ (b) § S=2ME 0S| KA 1.0M HoX & S 1,0 LOI 1.0 M NaOH &
CE §3}o}214_ BtCh 1.0 M NaOH 8% °| 21]= 1.0 L 2L Z0HoF e

() HCOs™(aq) + OH~(aq) = CO#~(aq) + H:O() Jb ROI0F 3=k

(i) NHs*(aq) + CO#” (ag) = NHslaq) + HCOs (aq)

0 HX (aq) = H'(aq) + X*(aq) TE=2 01851 AMAE
HCOs (ag) = H*(aq) + COs* (aq) Kz = 5.6 x 107" o ) o n
H'(ag) + OH-(aq) = H:O() Ko = 1/Ky = 1.0 x 10" FEtgEmozr HUAS O XSO HXIt BF AWK HX e X¥Dt

M0 B0 M2tA HeX(ag) + OH (aq) — HX'(aq) + H20() & &3

HCOs™(a0) + OH™(aa) = COF(aa) + H0() HEUA HOO 01N Boloh .

K, = lco/1 _ [collaT | ! = fa HaXJt S0l 1.0 mol(=1.0 M x 1.0 L) YAA2SE NaOH2 %2 1.0

‘" lmcojllon| (Hco;]  (dilonT] K, ? =" ST ) . D

5651011 \ mol EC+ OO BHCh 1.0 M NaOH 0I22 1.0 L2O %2 %9
*71 ox o1 2:6x10 NaOHZ & JtaHoF Bt
(ii)
H'(ag) + COs* (aq) = HCOs (aq)  Kc=1/Ka2 = 1.8 x 10"
NHs*(aq) = H*(aq) + NHa(aq)
Ka(NH4s") = Kuw/Ko(NHg)= 1.0 x 107'%/(1.8x 107°) = 5.6 x 107° (€ 9 SE2HS B=I| s 1.0 M NaOH EHS 1.0 Lo HaX 0]

0L €0 =0i0k 8H=21? (5 1.0 M NaOH 222 £1J)
NHs*(aq) + COs® (aq) = NHs(aq) + HCOs (aq)

. (vaHCo;]  HINE) - [HCO;]
¢ [ve{Ccog (V] (coiNa"] " 7
— (S-GX 107]“)(1~8><10m): 10 pH = 6.50 => [H ] =32x 10" M
HIyv2—
K, [7[x*7]
(HX"]
(x> Ko 5.0x1077 X
2 e 9 R 6
(HX] [HY] 3.2x107
= [XZ10t [HX12 1.6 Hi OI0{OF BtCH =, X279 2 £t HX' 2 2
#=9| 1.6 Hi OI0{0F StCH.
HE A4 () 5.6 x10° (i) 10




(SstUEE wS)iA
HoX(aa) + OH(aa) — HX(aq) + H0()

2 1.0 mol 1.0 + x mol 0
B E 0 x mol 1.0 mol

mol &&=t
F UM A US(FSLER HS)0A

HX (aq) + OH(ag) — X¥(aq) + H20()

S 1.0 mol x mol 0

gg £ 1.0xmol 0 x mol
T

o= 16

x=0.62

Oetd XS @0E NaOHe 2= 1.0+x=161L

NaCHel & 2I: 16 L

1.0 M NaOHEZ 1.0 + x mol (=1.0 + x L) €23, X H) 2F &S

X 1.0 mol HoX(aq) + OH (aq) — HX(aq) + HO() < =F gt
S0l M0, 22 22 F A} 200l HXIF 1.0 mol 4I12 OH It x H

— A -

H 13.3 - S #5W 28 459 of=H Y 4%

i A4 REACO  KCOm g oerco  K(CCm)

#(H,0) 100.0 0.51 0.0 1.86

Wil (CgHyg) 80.1 2.53 55 5.12

of| gh-8-(C,HOH) 78.4 1.22 —114.6 1.59

A2 §A=(CCly) 6.8 502 =223 20.8
EHCHCLy) 61.2 363 —=63.5 4.68

® R (DIM&t=) = 0.08206 Leatm/(mol*K) = 8.314 J/(mol+K)

® 1 atm = 760 torr

10. 22°C, 735 torrOllAl NHs 21l 7.5 LE 0.40 M2 HCI % 0.50 Lol =
ACH 2E NHIt Sali=A1, 49 RI= 050 L2 RAUACGD IHE

5. EAO pHE ORI

NHa(g)2l £ =+

pV=nRT

_ ﬂ: 735torr (latm /760torr)7.5L — 0.300mol
T RTT 0.08206(Z « atm)/(mol « K)295K oo

SIStAEA BtS

NHs(ag) + HCl(ag) — NHs'(aq) + Cl(aq)
S 0.300 mol  0.20 mol 0
g2 = 0.10 mol 0 0.20 mol
sistma ws

A& [NHs(aq)] = 0.10 mol/0.50 L =0.20 M
H& [NHs"(aq)] = 0.20 mol/0.50 L =0.40 M

NHs*(ag) = H*(aq) + NHs(aq)

S 0.40 M 0 0.20 M
st —X X X
HE 0.40 —x X 0.20+x

M 7HA KoNHs") = 5.6 x 1070

[H+][NH3] 2(0.20+ ) T
K,=56x10""= == =
(VH/]] (0.40—x) 2
r=1.1x10""°
pH=—10g(1.1x107?) =8.96
pH: 8.96




